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TEE  (13) (13) 92 0 0 0 0 0 0 8 0 100
a9 CHE FEY|  (44) (45) 26 44 2 0 6 0 0 12 9 100
lg/2E/28H| (290 (297) 52 10 0 0 0 1 0 21 15 100
21t i Exo[g
M3 EEE (1,728) (1,724) 61 28 2 0 0 0 0 5 100
A2 EBE (172) (176) 61 14 2 0 1 1 0 13 9 100
HEES| (94 (94) 37 15 0 0 0 1 0 35 12 100
DE/RSH (6) (6) 18 0 18 0 0 0 0 0 64 100
M8 =8 XX[=
oM (894) (895) 96 0 0 0 0 0 0 2 1 100
A& (701) (691) 17 72 1 0 0 0 0 3 7 100
o=y (127 (131) 71 3 18 0 0 0 0 5 2 100
M= (3) (3) 100 0 0 0 0 0 0 0 0 100
T} (6) (6) 0 16 0 0 50 0 0 17 17 100
ZuoH  (11) (11) 17 39 0 0 0 36 0 0 9 100
k=l (0) (0) 0 0 0 0 0 0 0 0 0 0
ls/2E8/28H|  (258) (263) 44 7 0 0 0 0 0 29 20 100
X KARFELY #AF AT EMAZIOM EH2EE E2 02%
X 'RAS guolk A EMAZ0fN BB 42 05%
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[® 6] CHM QA
[26] MMEMAME= Ol CHEY MAHet &0l T3l olH & oCjo o 30| 7k L7t?
ch
AL
MAT () | ma gse o wE g o
HH| TALREZ AL 7 Lf;* 712 od 220 71E OFd ZEO| RE/R8Y A
[SIE=1 =0t & eIE=1 =|oF &
A4 A+E1T¢o(%') 2lg HOFOF siCt | B2 MO{FOoF Ot
m A m (2,000) (2,000) 38 50 12 100
P
=l (1,003) (1,002) 40 49 11 100
ol (997) (998) 36 52 13 100
od
18-29M||  (239) (268) 25 54 21 100
30-39M||  (237) (238) 27 60 13 100
40-49M|  (294) (298) 24 68 8 100
50-59AM||  (402) (390) 28 63 9 100
60-69M||  (432) (419) 53 38 9 100
70M| O|AH  (396) (387) 58 28 15 100
Hdpydd™d
SERE 18-29M|]  (134) (149) 33 47 20 100
SFXF 30CH  (1371) (128) 30 56 14 100
=X 40CH]  (150) (151) 27 62 10 100
=Xt 50CH|  (204) (201) 25 67 8 100
SXF 60CH|  (213) (210) 52 39 9 100
XL 70M Ol (171) (163) 69 22 9 100
O{Xt 18-29M||  (105) (119) 15 62 23 100
O{X} 30CH| (106) (110) 24 65 11 100
Of Xt 40CH|  (144) (147) 21 74 5 100
O{ X 50CH|  (198) (189) 31 58 11 100
i Xt 60CH|  (219) (209) 54 37 8 100
O{Xt 70M O|AH  (225) (224) 49 32 18 100
AH
AMEEH  (618) (614) 38 50 12 100
MR (727) (732) 36 52 12 100
AsH|  (655) (654) 39 49 12 100
A
S/Y/018l  (150) (146) 49 34 17 100
A 462) (455) 45 47 7 100
oo/ S /M AE] (168) (167) 32 58 10 100
MAZ S/ 2Rl (100) (100) 33 53 14 100
ALR/2E|/HEE] (475) (481) 26 62 12 100
FHEI (310) (304) 46 44 10 100
St (94) (107) 24 50 26 100
F2/E|R/7|EH  (235) (234) 42 43 15 100
£/28H (6) (6) 33 51 16 100
ZHH AS
A (336) (335) 38 52 10 100
= (880) (884) 39 52 9 100
sH (731) (729) 36 50 14 100
DE/F3H|  (53) (53) 37 21 42 100
oj'd’det
TE|  (544) (547) 15 80 6 100
ZZ|  (585) (586) 28 59 13 100
Bl (680) (676) 68 23 9 100
DE/SESE|  (191) (191) 25 35 40 100
XxpPgde
HE0 x|  (764) (765) 7 88 5 100
2ol (714) (703) 83 10 7 100
ZEAE  (82) (82) 4 89 8 100
A (93) (95) 17 62 21 100
TIHEH  (13) (13) 0 84 16 100
9 o2 FE  44) (45) 51 35 13 100
S/2E/E8E] (290 (297) 27 35 39 100
21C tHM EEO[E
M3 EEE| (1,728) (1,724) 38 53 9 100
23 EHE  (172) (176) 34 37 29 100
HEES| (94) (94) 36 28 36 100
DE/2SH (6) (6) 32 18 50 100
M =8 XX =
O|RHGH|  (894) (895) 6 89 4 100
U2 (701) (691) 86 7 7 100
O|lZM| (127) (131) 20 62 18 100
HIY= (3) 3) 0 100 0 100
FZ=0} 6) 6) 83 17 0 100
2uoH (1) a1 74 17 9 100
37Tz (0) (0) 0 0 0 0
S/ E/2SH|  (258) (263) 25 25 49 100
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(& 7] At7| tHEE HEA o|™of CHt oA N
[27] MdENME S8 HFRY o|n &SI X7 t&HO| o/ ZAEES Lf2{0f St A25HM L7t? o
T
At () ~
=7F S A0 Ol Hetrf= NBAIR2 J—
o magas| =P |l oGor sy masjor it | ojmefor sy 2S/78E A
000) 49 18 10 100
= A m (2,000) (2,000) 23
e =]
o =2M (1,003) (1,002) 23 48 21 182 188
ofd|  (997) (998) 23 50 15
K]
18-29Ml|  (239) (268) 21 36 38 H 188
30-39M||  (237) (238) 17 42 % ; 100
40-49M||  (294) (298) 13 61 18 8 100
50-59M||  (402) (390) 20 57 i 190
60-69M||  (432) (419) 31 51 ¢ 8 190
70M O[&H  (396) (387) 32 43
HpydE
== SXF 18-29MI  (134) (149) 23 40 gg 1 81 188
SFXF 30CH  (1371) (128) 21 39 3 8 100
=Xt 4000 (150) (151) 13 59 2! 8 100
=Xt 50CH  (204) (201) 16 57 ; ¢ 100
=Xt 60l  (213) (210) 28 51 5 7 100
=XF 70M Ol (1771) (163) 37 37 ;?1 2 100
Of X}t 18-29Ml|  (105) (119) 17 32 3 e 190
O{Xt 30CH  (106) (110) 11 46 28 : 100
Of X} 40CH  (144) (147) 13 63 10 8 100
O{X} 50CH| (198) (189) 24 57 : e 100
O{ Xt 60CH  (219) (209) 33 51 ¢ 10 100
O{ Xt 70M O[AH  (225) (224) 29 48
;ll_jcl
B AMEEH  (618) (614) 22 50 18 181 188
AMEREH  (727) (732) 23 50 19 8 100
A5 (655) (654) 24 48 18
P[]
o =/2/01g|  (150) (146) 29 42 12 191 188
FAA 462) (455) 25 53 2 2 100
oHoj/ S /M AR (168) (167) 21 49 1 " 100
MA7|5/=2 2 (100) (100) 25 47 ¢ : 190
AMR/2E/HEE] (475) (481) 16 50 28 . 100
FE (310 (304) 29 52 s 19 190
st (94) (107) 22 37 26 IE 100
F2/E|R/7|EH  (235) (234) 25 47 18 10 190
£/28H (6) (6) 16 32
ARNE A=
SHH AS A (336) (335) 21 50 ?; g 188
= (880) (884) 25 50 i 2 100
sH (731) (729) 23 48 10 100
DE/28H|  (53) (53) 17 42 4
Ol A SE
eee RlE|  (544) (547) 6 66 23 ; 188
=z (585) (586) 19 52 22 ! 100
H (680) (676) 41 36 14 3 100
DE/RSH| (191) (191) 19 11 6
SRS
e HE02Fg  (764) (765) 5 67 ?2 161 188
Zoolsll  (714) (703) 47 32 0 ) 190
M (82) (82) 7 64 27 ! 190
A (93) (95) 9 48 39 : 190
REE  (13) (13) 9 54 g? 8 100
O 2 CHE dEE| (44) (45) 26 36 ol A 100
/2 E/E8H| (290 (297) 21 41
210 M ExolF
i M3 EEZE| (1,728) (1,724) 23 50 18 193 188
23 EEE (172 (176) 24 46 lg 1 190
HEES| (94) (94) 21 40 2! 100
DE/RSH (6) (6) 16 33 0
M &8 XX =
= ORI (894) (895) 5 66 23 160 188
U2 (701) (691) 48 31 11 ; 100
O|=M| (127) (131) 16 47 302 2 100
HIY= ®3) (3) 0 59 0 : 100
TFef (6) (6) 84 16 0 19
uoH  (11) (11 73 108 8 2 0
Si= (0) (0) 0
S/2E/2SH|  (258) (263) 20 42 15 23 100
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(£ 8] ZEE A

]
o
2K

(28] MEEHNME A7 0| 2L Aot 7120 O T o EXE 71E SHEC = sffAsof oot W2t L7t
TR %
A|'E1|'JF (%1) %%%%E stelc S J—
TI=7F ! =&9 ===
TH magaa| I VY oRCT neor s pawal za 2E/FEY A
) | oy S
Atdl==(3)
m M m (2,000) (2,000) 10 23 32 24 11 100
FEE
= (1,003) (1,002) 11 23 35 23 9 100
ofdl  (997) (998) 10 23 29 26 12 100
K]
18-29M||  (239) (268) 7 25 44 14 10 100
30-39Ml|  (237) (238) 9 24 42 19 5 100
40-49M||  (294) (298) 7 30 37 20 5 100
50-59AM||  (402) (390) 11 26 28 27 7 100
60-69M||  (432) (419) 11 18 27 31 12 100
70M O|&|  (396) (387) 14 16 22 27 21 100
Hdlpydd
SERF 18-29MI|  (134) (149) 7 27 40 16 11 100
SHXF 30CH  (1371) (128) 8 28 39 19 5 100
X 40CH  (150) (151) 7 29 39 19 6 100
SHXF S0CH  (204) (201) 15 23 31 26 5 100
SXF 60LH  (213) (210) 13 16 32 26 12 100
XL 70M O[&|  (171) (163) 13 16 30 26 15 100
O{ Xt 18-29M|  (105) (119) 7 23 50 12 8 100
OfX} 30CH  (106) (110) 1 20 45 20 5 100
Of X} 40CH  (144) (147) 7 31 36 22 3 100
OfX} 50CH  (198) (189) 8 29 25 29 10 100
OX} 60CH  (219) (209) 10 20 22 37 12 100
o Of X} 70M| O|AH  (225) (224) 15 17 16 27 25 100
=Y
AMEEH  (618) (614) 11 23 35 22 10 100
AMEEH  (727) (732) 12 23 34 20 11 100
o &3 (655) (654) 8 22 28 32 10 100
Iy
S/2/0Y  (150) (146) 12 21 25 26 15 100
XA (462) (455) 12 22 29 28 9 100
oo /G A/ ME|AZ (168) (167) 8 25 29 26 11 100
MAYI|5/=2 X (100) (100) 10 33 19 22 16 100
ALR/2E|/HER| (475) (481) 10 25 41 18 6 100
ZFEI (310) (304) 10 21 23 31 15 100
SHMl (94) (107) 8 26 43 13 9 100
S2/E|R/7|EH  (235) (234) 10 17 35 24 14 100
£/28H (6) (6) 0 16 68 16 0 100
ZHH AS
Al (336) (335) 9 23 33 28 8 100
= (880) (884) 11 23 33 25 9 100
s (731) (729) 10 23 32 23 12 100
2E/28H|  (53) (53) 4 16 18 19 45 100
oj'd/dgk
T (544) (547) 12 26 35 21 5 100
ZE|  (585) (586) 9 23 34 26 8 100
B2l (680) (676) 10 22 30 27 10 100
RE/SSH (191) (191) 10 15 23 18 35 100
XxpE
0B  (764) (765) 11 22 36 25 7 100
Zololgll  (714) (703) 11 22 27 27 13 100
ZIHMEH  (82) (82) 12 36 24 24 4 100
IHEAE  (93) (95) 5 28 43 19 4 100
TR (13) (13) 22 7 40 23 8 100
O 2 CHE FE|  (44) (45) 14 28 27 24 8 100
SS/ZE/2SE]  (290) (297) 9 22 33 18 19 100
21t tHM EEO[E
M3 EEE (1,728) (1,724) 11 23 32 25 10 100
23 EHE (172) (176) 11 27 28 19 14 100
HEES (94) (94) 6 21 36 20 18 100
DE/REH (6) (6) 0 0 50 15 35 100
M =8 X|X[E
O|F T (894) (895) 11 24 34 24 7 100
424 (701) (691) 11 22 26 28 12 100
olZM| (127) (131) 5 27 39 21 7 100
HY = (3) (3) 0 0 59 0 41 100
FZ=9} (6) (6) 0 34 50 16 0 100
2uol (1) a1 0 12 35 34 18 100
Stz (0) (0) 0 0 0 0 0 0
SE/2E/2SH|  (258) (263) 1 21 35 15 18 100
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[20] HHEHME HC2E AL ZRAZ0 "—|77f. FES MU OE XG0 40 HoyLk

m

SEadty PRI Ol A CHE X Y0oj|lAM
=4k CHE = M= =Z/ooct
T @)
m HH m (2,000) (2,000) 87 12 1 100
P
=l (1,003) (1,002) 87 13 1 100
ol (997) (998) 87 12 1 100
LE]
18-29M||  (239) (268) 58 40 2 100
30-39M||  (237) (238) 79 20 2 100
40-49M|  (294) (298) 89 10 1 100
50-59AM||  (402) (390) 92 7 1 100
60-69M||  (432) (419) 95 4 1 100
70M| O[&H  (396) (387) 96 3 1 100
Hdpydd
=X 18-29M  (134) (149) 58 41 1 100
SFXF 30CH  (1371) (128) 82 15 2 100
=Xt 40CH|  (150) (151) 87 13 0 100
=Xt 50CH|  (204) (201) 93 7 0 100
SXF 60CH|  (213) (210) 96 3 0 100
XL 70M Ol (171) (163) 96 2 1 100
O{Xt 18-29M||  (105) (119) 59 38 3 100
O{X} 30CH| (106) (110) 74 25 1 100
Of X} 40CH|  (144) (147) 91 8 1 100
O{X} 50CH|  (198) (189) 92 7 1 100
O{ Xt 60CH  (219) (209) 94 5 1 100
O{Xt 70M O|AH  (225) (224) 96 4 1 100
Ad
AMEEH  (618) (614) 86 13 1 100
GMEEH  (727) (732) 87 12 100
AsH|  (655) (654) 88 11 1 100
A
S/2/01e  (150) (146) 95 3 1 100
XA (462) (455) 92 8 0 100
THOj/ G /M H| ARl (168) (167) 90 9 1 100
MAY 7|5/ 82Xl (100) (100) 91 7 2 100
ALR/2E|/HEE] (475) (481) 84 15 1 100
FHEI (310) (304) 94 5 1 100
St (94) (107) 41 55 3 100
2 2/E|2l/7|EH  (235) (234) 86 13 2 100
£/28H (6) (6) 84 16 0 100
ZHH AS
A (336) (335) 87 13 0 100
= (880) (884) 87 12 1 100
sH (731) (729) 88 1 1 100
DE/F3H|  (53) (53) 76 16 7 100
oj'd’det
TE|  (544) (547) 86 14 0 100
ZZ|  (585) (586) 85 15 0 100
Bl (680) (676) 89 9 2 100
RE/28H  (191) (191) 86 11 3 100
XxpPgde
HE0 x|  (764) (765) 87 12 0 100
Zologl|  (714) (703) 91 8 1 100
ZEAE  (82) (82) 94 6 0 100
A (93) (95) 75 23 1 100
TIHEH  (13) (13) 100 0 0 100
O 2 CHE FE|  (44) (45) 76 22 2 100
S/2E/E8E] (290 (297) 79 19 3 100
21C tHM EEO[E
M3 EEE| (1,728) (1,724) 88 12 1 100
23 EHE  (172) (176) 82 16 2 100
HEES| (94) (94) 84 13 3 100
DE/2SH (6) (6) 66 18 16 100
M =8 XX =
O|FH| (894) (895) 88 1 0 100
U2 (701) (691) 92 7 1 100
o|=M| (127) (131) 71 28 1 100
HIY= (3) (3) 29 71 0 100
e} (6) (6) 100 0 0 100
2uoH (1) 1 82 18 0 100
Stz (0) (0) 0 0 0 0
S/ E/2SH|  (258) (263) 79 18 2 100
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[# 10] ZREE MLIX] @A 517] 2l 7iM0] 7+ East o
[£10] ZRERO| ZRUEE MHLIX| @A 517 IsiME ofH Z0re| 7jH0| 71 ERstotn WS LI

T
A== ()
7*%5)\‘ ol o (=Ko = o E%/
HH ZAREAY T Xtz ns =&t FA o7 ns 7|Ef oo Al
A (H =S ©
AT | e
m S8 m (2,000) (2,000) 60 5 5 4 12 9 3 2 100
EEE
=AM (1,003) (1,002) 63 5 4 4 11 9 3 1 100
ofdl  (997) (998) 57 6 6 4 12 9 4 3 100
K]
18-29M||  (239) (268) 64 5 8 3 5 11 3 2 100
30-39Ml|  (237) (238) 61 6 6 3 12 9 1 0 100
40-49M||  (294) (298) 63 7 3 4 14 8 1 0 100
50-59AM||  (402) (390) 66 3 4 4 12 7 3 2 100
60-69M||  (432) (419) 57 6 5 5 12 9 4 1 100
70M O|&  (396) (387) 50 7 5 4 12 10 6 5 100
Hdpydd
SERE 18-29MI]  (134) (149) 68 4 7 3 5 6 5 1 100
SXF 30CH  (131) (128) 66 6 6 4 6 11 1 0 100
SR 40CH  (150) (151) 67 3 3 5 14 7 1 0 100
SHXF S0CH  (204) (201) 66 3 3 2 15 7 2 1 100
SXF 60LH|  (213) (210) 58 6 3 7 11 10 4 2 100
=X 70M Ol (171) (163) 53 5 3 4 14 13 5 2 100
O{ Xt 18-29M||  (105) (119) 59 5 10 2 4 16 2 3 100
OiX} 30CH  (106) (110) 55 7 7 3 20 8 1 0 100
OfX} 40CH  (144) (147) 60 10 2 4 13 10 1 1 100
O|X} 50CH  (198) (189) 66 2 5 5 10 7 4 2 100
OfX} 60CH  (219) (209) 57 6 6 3 14 8 5 0 100
T O{ X} 70M| O|AH  (225) (224) 47 8 6 4 11 8 8 8 100
Y
AMEEH  (618) (614) 60 4 4 6 11 10 3 2 100
AMEEA (727) (732) 58 7 6 3 12 9 3 2 100
- AsH  (655) (654) 61 5 5 2 12 8 4 2 100
g
S/2/0Y  (150) (146) 56 8 4 5 13 8 5 3 100
XA (462) (455) 61 5 5 5 12 9 3 1 100
oo/ E L /ME[AE] (168) (167) 63 5 4 3 10 8 5 1 100
MAYI|5/=2 X (100) (100) 70 7 1 4 7 6 3 2 100
ALR/2E|/HER| (475) (481) 63 5 4 4 13 9 1 1 100
ZFEI (310 (304) 54 6 7 3 14 8 4 4 100
SHMl (94) (107) 59 5 14 2 2 11 3 4 100
FE/E|=l/7|El  (235) (234) 55 4 5 4 11 12 5 3 100
£/28H (6) (6) 32 0 16 0 0 51 0 0 100
ZHH AS
Al (336) (335) 54 6 8 2 14 12 4 2 100
= (880) (884) 60 6 5 4 12 9 3 1 100
s (731) (729) 64 5 3 5 10 8 4 2 100
2E/28H|  (53) (53) 48 4 5 0 11 9 4 19 100
o' g’ dgt
T (544) (547) 63 5 4 4 13 8 2 0 100
ZE|  (585) (586) 62 6 5 4 10 9 3 1 100
H2l (680) (676) 59 6 6 4 11 10 3 1 100
RE/SSH (191) (191) 46 6 3 4 13 9 7 12 100
XxE
202  (764) (765) 62 5 4 4 13 9 2 1 100
Zololgll  (714) (703) 56 5 5 4 12 10 5 3 100
ZIHMEH  (82) (82) 64 7 10 4 7 7 1 0 100
N A (93) (95) 72 7 2 1 10 8 0 0 100
TR (13) (13) 63 7 0 8 14 7 0 0 100
O 2 CHE FEY| (44) (45) 62 9 7 11 4 4 2 0 100
o2/2E/28E] (290 (297) 57 5 6 3 10 10 5 4 100
21t tfd EE9[E
M3 EEE (1,728) (1,724) 61 6 5 4 11 9 3 2 100
23 EHE (172) (176) 52 5 6 5 13 8 7 5 100
HEES (94 (94) 60 1 7 3 12 9 4 4 100
DE/REH (6) (6) 50 0 0 0 16 35 0 0 100
M =8 XX =
O|ZHTH|  (894) (895) 63 5 4 4 12 8 2 1 100
424 (701) (691) 55 6 6 4 13 10 5 3 100
olEM| (127) (131) 69 6 5 3 8 9 1 0 100
HY = (3) (3) 100 0 0 0 0 0 0 0 100
FZ=9} (6) (6) 34 33 0 0 0 16 17 0 100
guol (1) (11) 65 0 0 8 0 18 9 0 100
3tz (0) (0) 0 0 0 0 0 0 0 0 0
S8/2E/2SH|  (258) (263) 59 5 6 3 9 9 4 4 100
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® 1] YR =
[E1211-1] dMEHM = TS & ol dYE XXSHYLUM £A2 =22 F2Ee(AEUCE & 18, ol HH0| =30|2t: ¢ 20|
7t HOZIR? R =02 B8 E2|HSU T
T %
AL
Abe = (;'é)w . =3 a9 XX|gt= ey
A ZAFREE A} LF; leu =003 JMH e g Og Y0l . So5 A
Eillﬁk—(%‘) e To = o ;g% gil:l_ Tod
Atl==(E)
. m AN m (2,000) (2,000) 38 35 4 5 1 2 14 1 100
adg
= (1,003) (1,002) 34 35 4 8 1 2 16 0 100
oMl (997) (998) 43 35 4 2 1 2 12 2 100
LK
18-29M  (239) (268) 29 19 2 14 1 3 32 1 100
30-39Ml|  (237) (238) 42 21 3 8 0 4 20 1 100
40-49M||  (294) (298) 59 16 8 3 1 2 11 0 100
50-59AM||  (402) (390) 51 28 6 2 1 2 10 1 100
60-69Ml|  (432) (419) 29 50 4 4 0 2 9 1 100
70M O  (396) (387) 23 62 2 1 0 1 8 3 100
HHpydd
EFXF 18-29M|  (134) (149) 12 23 2 24 1 1 35 1 100
SHXF 30CH  (131) (128) 36 26 2 13 0 4 18 1 100
X 40CH  (150) (151) 53 19 9 5 0 2 12 0 100
=XF 50CH|  (204) (201) 52 24 6 2 2 2 12 0 100
SHRF 60CH  (213) (210) 31 47 4 5 0 2 9 1 100
SEXE 70M OA|  (171) (163) 15 66 2 3 1 1 13 0 100
Of Xt 18-29M|  (105) (119) 50 13 1 0 2 4 29 1 100
OfX} 30CH  (106) (110) 50 15 5 2 0 5 23 1 100
Of Xt 40CH|  (144) (147) 65 12 7 2 1 3 10 0 100
OfXt 50CH|  (198) (189) 50 32 5 1 1 3 8 2 100
OfXt 60CH  (219) (209) 27 54 4 4 0 2 8 1 100
T Of Xt 70M OJAH  (225) (224) 29 59 1 0 0 0 5 5 100
Ho
AMEEH  (618) (614) 39 35 4 5 1 3 14 1 100
MR (727) (732) 39 33 4 5 1 2 15 1 100
- A= (655) (654) 37 38 4 5 0 2 13 1 100
e
S/Y/08 (150) (146) 26 47 7 4 2 3 1 1 100
AEH  (462) (455) 39 40 4 2 0 2 11 0 100
THOH /Y R/ MH| ARl (168) (167) 48 29 3 5 1 1 12 0 100
MA7|S/2 2 Xl (100) (100) 41 31 3 4 1 1 17 2 100
AtR/2E/HEER (475) (481) 48 20 6 8 1 3 14 1 100
F&2 (310 (304) 35 50 3 2 0 2 8 2 100
SHll (94) (107) 22 17 3 8 0 4 44 2 100
Sx/E|R|7|EH  (235) (234) 30 44 3 5 1 1 15 2 100
DE/B S (6) (6) 51 33 0 0 0 0 0 16 100
ZHH AS
A (336) (335) 39 38 5 6 1 3 8 0 100
3| (880) (884) 39 35 4 5 1 2 13 1 100
sl (731) (729) 38 33 4 5 1 2 17 1 100
DE/EZH|  (53) (53) 28 43 4 0 0 2 12 11 100
oj'd’dgt
TIE|  (544) (547) 72 8 6 3 2 3 7 0 100
ZE|  (585) (586) 44 23 5 6 0 2 20 1 100
Hl (680) (676) 8 69 2 6 0 3 11 0 100
2E/28H (191 (191) 31 31 2 1 1 1 26 8 100
XXt
HE0 AT (764) (765) 100 0 0 0 0 0 0 0 100
ool (714) (703) 0 100 0 0 0 0 0 0 100
ZIHME  (82) (82) 0 0 100 0 0 0 0 0 100
INAME (93) (95) 0 0 0 100 0 0 0 0 100
T (13) (13) 0 0 0 0 100 0 0 0 100
1 o CHE dEY|  44) (45) 0 0 0 0 0 100 0 0 100
SS/ZE/2SE|  (290) (297) 0 0 0 0 0 0 93 7 100
21t O E=oE
M3 EHEZEF (1,728) (1,724) 42 36 4 5 1 2 9 1 100
A3 ERE  (172) (176) 20 29 2 6 1 2 36 2 100
HEES (94 (94) 10 35 0 2 1 0 50 3 100
RE/REH (6) (6) 0 32 0 18 0 0 51 0 100
M 28 XK=
O|ZHH| (894) (895) 80 2 8 1 1 1 7 0 100
A2 (701) (691) 1 88 0 1 0 3 6 1 100
olFM| (127) (131) 6 12 4 56 2 1 19 0 100
HA= @3) (3) 0 0 0 0 29 71 0 0 100
9k (6) (6) 0 17 0 0 0 66 17 0 100
guol (1) (11) 0 56 0 0 0 26 17 0 100
k=l (0) (0) 0 0 0 0 0 0 0 0 0
S/ E/ESE|  (258) (263) 12 20 0 3 0 3 54 6 100
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